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Once again, start by drawing the structure of the conjugated parent
compound and then add an electron to form the radical anmion. Only a few
of the possible resonance forms are draw, Nonetheless, it can be seen
that the anion and radical can be delocalized onto both nitro groups
simultaneously for the p-dinitrobenzene, and this leads to more possible
resonance forms. Because there is more delocalization in the intermediate
from the para compound, it should he easier to transfer an electron to
p-dinitrobenzene, and hence, it should be a better radical trap.
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Examen de chimie des hétérooycles
“iastion de cours:( 04pts)

L. Quelle est la valence des element suivant : le soufre, I'oxygene, I'azote ?.
2. Dans un heterocycle est-ce que un heteroatome peut porte I'indice 1 7

EXERCICE 01 :(03pts)

Donner les formules des isomére du 1, 2.4 thiadiazine

EXERCICEO2 :(06pts) |

Donner la structure des composes répondant aux noms‘ chimiques suivants :
1. Tetrahydropyrrolo[2,1-b]thiazole
2. 2,3,5,6-tetrahydro-6-phenylimidazo[2,1-b]thiazole

EXERCICEO3 :(7pts)

Donner la nomenclature des heterocycles suivant
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Université d'El-Oued Année un/vergitaire 2016/2CG17
Faculté des Sciences exactes '
3% Année LMD-SM

Nom : Prénom : Groupe :

Epreuve de Bio-organique

Exercice N°1 \%’ e
I- Cocher la réperise juste e >§ %

1. Quels sont les acides aminés & noyau aromatique dans la série:

e

¢ .
Tyrosine f Acide Glutamique Proline

2. Quel est I'acide aminé incapable de former ui@ liaison péptidiguz ?
| a) Glycine ¢ b) Acide aspartique N ¢) Proline - I d) Phényialanine

\?é;: Quel est I'état commun des Cystéines dans une protéine ?
a) Etat sous forme 'ponts dissulfures’ _ c b) Etat sous forme thiol (SH)

¢) Etat sous forme thiol (SH) et 'ponts dissulfures’

4. Combien de liaisons peptidiques sont mises en jeu dans I'heptapeptide :
Gly-Pro-Ala-Trp-Ser-Leu-lle- ?

. « - - .
a) § liaisons b) 6 liaisons c) 7 liaisons

5. La liaison peptidique liant les acides aminés dans la structure primaire comporte
comme une liaison : \J :
o

>

b) double “ by triple ) jiaison

' a) simple
rotatoire

6. Parmi les produits suivants, lesquels sont utilisés pour identifier le N-terminal d'une

protéine ?
a) Acide acétique ¢ b) Acide performique
c) Bromure de cyanogéne (BrCN) . w d) Fluorodinitrobenzene (DNFB)
7. Parmi les produits suivants, lesquels sont utilisés pour identifier le C-terminal d'une
protéine ? _
8 a) Chymotrypsine r b) Acide chlorhydrique r ¢) Acide acétique \
& d) Carboxypeptidase -

8. La forme hélice de la structure de PADN est due aux liaisons:

Y

a) disulfures r b) N-osidique > ¢) hydrogéne e d) phosphorigue

li- Quelles sont les trois différences structurales entre 'ADN et IARN
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Exercice N%:;;’\Z‘{\\ ,
Soit les pKa dueefiple acido-basique du tryptophane et la cystéine.

Tryptophane: pKa, (COOH)=2,6 ; pKa, (NH) = 10.4.
Cystéine: pKa, (COOH) = 1,8 ; pKa, (NH) = 10,8 ; pKay (de la chaine latérale) = 8,3.

1) Calculer la valeur du pl isoélectrique des deux acides

-~ . ’) < R S oy
?\{:?ﬁ’fﬁlﬁlg ........ E..\L{.‘fw@é&g%mg}.:.{;7.&.?;,.... Q) .........................
........................................... R R S S 7 |

2) Donner la formule du zwitterion du tryptophane.

...........................................................

3) Dessinez toutes Ies formes de cyStéine, et déterminez les domaines de pH dans lesquels ces

formes sont prédominantes.

® > ) ;

S Ao EhSedt  wsecl-hy-cos W-R P- o5y @
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Exercice N°3 , 7
On procéde é%’aration par chromatographie d'échange d'ions d'un mélange des acides
aminés constitué d'acide glutamique (Glu), leucine (Leu) et lysine (Lys). Lés pI isoélectf‘iques
(& 25°C) de ces acides sont 3,22; 5,98 et 9,74, respectivement. Les trois acides aminés sont
déposés sur la colonne & PH =2, puis au cours de la chromatographie, le pH est amené 4 7.
Quels sont les acides aminés élués dans ces conditions et quel est leur ordre d'élution ?
Justifier.
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Epreuve de Bio-organigue

A

Exercice :\_L
‘. H & '/
I- Cocher la réponse juste @.\» % &

1. Quels sont les acides aminés a noyau aromatique dans la série:

(f“-.
Proline ' ' - Acide Aspartique \5 Tryptophane

2. Quel est I'acide aminé incapable de former une liaison péptidique ?

a) Proline " b) Acide aspartique © ¢ Glycine ' g) Histidine

3. Quei est I'état commun des Cystéines dans une protéine ?
a) Etat sous forme 'ponts dissulfures' r b) Etat sous forme thiol (SH)

c) Etat sous forme thiol (SH) et 'ponts dissulfures’

4. Combien de liaisans peptidiques sont mises en jeu dans I'heptapeptide :
Ala-Trp-Ser-Pro-Leu-lle-Gly ?

e - el . g

a) 7 liaisons b) 6 liaisons c)5 liaisons

5. La liaison peptidique liant les acides aminés dans la structure prlmalre comporte
comime une liaison :

a) triple ' b) double by simple by liaison rotatoire
6. Parmi les produits suivants, lesquels sont utilisés pour identifier le N-terminal d'une
protéine ?

a) Bromure de cyanogéne (BrCN) e b) Acide performique

c) Acide acétique NS d) lsothioc;,yanatee de phenyle
7. Parmi les produits suivants, lesquels sont utilisés pour identifier le C-terminal d'une
protéine ?

a) Trypsine b) Acide chlorhydrique (HCI) : "~ ¢) Carboxypeptidase

d) Acide acétique

8. La forme hélice de la structure de PADN est due aux liaisons:

a) disulfures c b) N-osidigue N c) hydrogéne a d) phosphorique

l- Quelles sont les trois différences structurales entre 'ADN et 'ARN
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i- Cocher I reponse juste "¢ . 4 2

\\\\\ R
1. Quels sont les acides aminés 3 noyauy arematique dans la série:
¢ Proline - Acide Aspartigue N Tryptophane
2. Quel est 'acide aminé incapable de former une liaison péptidique ? |
S Proline a b) Acide aspartique ~ c) Glycine £ d) Histidine

3. Quel est I'dtat commun des Cystéines dans une protéine ?

.

¢ ,

a) Etat sous forme 'ponts dissulfures' ~ b) Etat sous forme thio (SH)
c) Etat sous forme thiol (SH) et 'ponts dissulfures'

4. Combien de liaisons Peptidiques sont mises en jeu dans 'heptapeptide :
Ala=Trp=SermProuLeu-He-Gly ?
" 2) 7 liaisons a b) 6 liaisons NG ¢) 5 liaisons
5. La liaisen peptidique liant les acides aminés dans Ia structure primaire comporte -
comme une liaison : : - ’
) triple g b) double " b simple " b) liaison rotatoire

<. Parmi les produits sulvants, lesquels sont utilisés pour identifier le N-terminal d'une
wrotéine 7

o =

a) Bromure de Cyanogene (BrCN) ! b) Acide performique

¢) Acide acétique 5 d) Isothiocyanatee de phenyle

<. Parmi les produits suivants, lesquels sont utilisés pour identifier le C-terminal d'une
srotéine 2

. . . £~ . L ) :

a) Trypsine b) Acide chlorhydrique {HCl) \\\K; ¢) Carboxypeptidase
o) Acide acétique
“. La forme hélice de Ia structure de PADN est due aux liaisons:

A

a) disulfures ¢ b) N-osidique NE ¢) hydrogéne c d) phosphorique

P

- Quelles sont leg trois différences structurales entre FADN et FARN
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Text

A...?...... is the study of materials or substances. Chemists want to find out

what they are made of. They also try to discover and make new substances, and
study thei properties. In this chapter you will meet somne of the basic ideas of
chemistry. You will learn about the kinetic theory, whith explains how matter
behaves by thinking about the tiny particles called atomsthat everything is made
of. You will also learn about the chemical elements — simple substances that
contain only one kind of atom — about compounds in whic two or more elements
are combined together, and ahbwout the symbols and formuas‘that chemists use to

represent elernents and compounds. _ , ,

B ..7... is a model that shows how particles are aranged, and how they
behave, in solids, liquids and gases. The particles in the kinetic model may be
atoms or they may be molecules {(groups of atoms joinedtogether). The particles
have energy, so they can move.

C..%.. are the simple basic substances from which ewverything else is made.
An afom is defined as the smallest particle of an element. an element is defined
as a substance that contains only itself - only one kind of aom. The atoms of one
element are all exactly the same, but they are different fron the atoms of all other
elements. There are 90 different elemsnts that occur in natire. Everything else is
made of these 90 elements. Four of the most common elements are oxygen,
carbon, nitrogen ancl hydrogen.

D...7...... are the compounds of carbon. Carbon atons can join with one
another, and with a few other non-metal atoms (maity oxygen, hydrogen,
nitrogen, sulphur and phosphorus), to form chains awd rings. Look at the
molecule of aspirin illustrated below. Just as a few letters of the alphabet can
make many different words, so these few elements cin make many different
compounds. In fact there are millions of organic compouds, many of them very
complex. They include medicines, vitamins, plastics, naturai and man-made
fibres, as well as all the carbohydrates, proteins, oils, fats and other compounds
found in living things. Most organic compounds are not juitable for study in this

book, but you already know a lot about carbon dioxide.

Questions

1- Give a title to this text. { 1pts)
2-Fill the gaps (A B C D ).( 2pts)
3-. Guess what are (i) bio-chemistry, (ii) organic chemitry. ( 2pts)

4-Draw the diagram to show the solids, liquids and gass particles behave.

(2pts)

§- According to paragraph tow: (i) . What is a molecule’(ii) Which have the
most energy, the particles in solids, liquids or gases? (iiYWhat do you think
happens to the particles in water when the water is coa e/en freeze( 4pts)

6- List the two liquid elements and many gaseous elenents( 2pts)

1 /e




7- What is (iyaca rbohydrate, (i) the formulaa for sugar? ( 2pts)

8- Why are there so many organic compound.s when they all contain the same
few elements? { 1pts)

9- What's the difference between organic compounds and Inorganic
compounds( 2pts)

. ""i»,
Y

10 - Write the definitions and then mention exam ples from text for following:
noun, verb, adjectlve adverb ( 2pts)

.




Crection of 3" Exam 2016-2017

1- The title to this text is :Chemistry, kinetic theory, elements, organic

compounds.

2- gaps filling the (A (Chemistry).B(kinetic theory). C(elements). D(organic
compounds.

3- (i) Bio-chemistry is the chemistry of living organisms. A bio-chemist studies the

chemistry of life processes such as respiration and photosynthesis. (ii) Organic
chemistry is the study of substances found in, or made by, living organisms. An
organic chemist might study starch as a substance (e.g. how to make it and how to
make different things from it). e

5- (i) . Amolecule is a small group of atoms joined together. (ii) The particles in a gas
have the most energy. (ii) When water is heated until it boils the particles move
faster and faster until they shoot out of the crowd and fly around on their own as a
gas. (iii) when water is cooled even freeze the particles Stop their movement and

transformed to a solid. -

6- . The 2 liquid elements are mercury Hg, and bromine Br.

s

7- (i) A carbohydrate is a compound containing carbon, hydrogen and oxygen only.
(i) The formula for table sugar is C;,H;,041.

8- There are millions of carbon compounds because carbon atoms join with one
another, and with a few other non-metal atoms, to form chains and rings.
9- the difference between organic compounds and Inorganic compounds( 2pts)

10-the definitions and then mention examples from text for following:

noun, verb, adjective, adverb.

-A noun is the name of a person, place, thing, or idea. Whatever exists, we assume, can be
named, and that name is a noun.

- Verbs carry the idea of being or action in the sentence.

-Adjective: simply put adjectives are descriptive words. Adjectives are used to
describe or give information about things, ideas and people: nouns or pronouns.

- Adverbs can tell you where, when, how, why and to what extent something
happens.

There are several different classes of adverb.




They are often formed from ad} ectives or nouns be adding the suffix -ly.




